
1 2 3 4 5 6 7 8 9 10 

addition subtraction 
2 + 4 = 6 6 - 2 = 4 

2 combined with 4 makes 6 6 take-away 2 is 4 

2 add 4 is 6 6 subtract 2 is 4 

2 plus 4 equals 6 6 minus 2 is 4 

the sum of 2 and 4 is 6 the difference between 6 and 2 is 4 

2 increased by 4 makes 6 6 decreased by 2 makes 4 

4 more than 2 is 6 2 less than 6 is 4 

six is four greater than two  four is two less than six 
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multiplication division 

$4 x 3 = $12 $12 ൊ 3 = $4 

               3 groups of 4 makes 12                        12 shared between 3 is 4 

3 rows of 4 is 12 12 shared amongst 3 is 4 

4 multiplied by 3 equals 12 12 divided by 3 is 4 

the product of 4 and 3 is 12 the quotient of 12 and 3 is 4 

1 2 3 4 5 6 7 8 9 10       Using addition we can write  4 + 4 + 4 = 4 x 3 = 12 
 

      Using subtraction we can write  12 - 4 - 4 - 4 = 0 11 12 13 14 15 16 17 18 19 20 

ŏ  ŏ  ŏ  ŏ  ŏ  ŏ 

ŏ  ŏ  ŏ  ŏ  ŏ  ŏ 
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